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The wavelengpthe . * CHEMISTRY
s lie in the ultraviolet region ?

(2) Balmer
(4)  None of the above

9 S50k S5 1o @ed 0do &y 05508 Sotnod ?
(1) 8DS Fed

(3) Paschen

B) %S de 5 ‘. SRR

112.

4) n=1/=2m=-1

113. What is the wrong statement about transition metals ?

(1) They are diamagnetic (2) They are paramagnétic:
(3) They form complexes (4) They show variable oxidation states

305G &S0 IRADHIE’ & B0 3°IE° DB &35y, ?

(1) S838S &Sfen HAD HUDI YOS S (S0 (BB,
(2) SO5YS &SP T WOHIOS e 55»:63 P& 0HD. |
(3) 303588 &' SFen 0B S FT 0 GBI,

(4) 38355 S53en VG 38550 PO (SEH0ID.

114. The element that possess the lowest ionization energy among the tollowm,s_.,
(1) Oxygen (2) . Fluorine
(3) Sulphur ; (4) Nitrogen

5: 1308 Surosod’ S5 LTSS ¥§ o Suressn D8 ?

(1) esdyed (2) B
(3) Soyd (4) JeS'esS
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115.

116.

- 117.

118.

119.

- 120.

Which of the following is a favourable factor for the cation formation ?
(1) High clectronegativity (2) High électron affinity
(3) Low ionization energy (4) Smaller atomic size

5 800 TIE D 0¥ SEAIS D EEH0 WA ?

(1) Q¥ 2x00es DTS ES (2) <Y 00[555 DV

(3) S eoHIESEe F8 (4) DB SESrew SOBreadn

Doublec bonds are present in

51 (808 TV BoFrOR SOA &30 I8 ?

(1y €O, (2) BeCl,
(3) CH, (4) MgO

Dalton’s law of partial pressure is applicable to
arS F3E Do DapHsn 3D SOOI ?

(1) NO+O0, (2) H,+Cl,
(3) NH,+HC! 4) CO,+0,

The number of *Si gma’ and ‘Pi’ bonds present in inorganic Benzene.
35es0°08 BoEs & Iy ¢ 1y’ wOFre I ‘P’ wOTTeD S0 ?

(1) 9o,06m (2) 60,37
(3) 120,3rn (4) 90,3n

How many moles are present in 540 grams of Glucose ?
540 (TS0 KrS'ES” D) Irden K0 ?

(1) 2 2) 3
3) 4 T 4) 5

The volume of two gram moles of oxygen at STP is
(1) 22.4 Litres (2) 11.2 Litres
(3) .40 Litres (4) 44.8 Litres

STP 3¢ Both (T IrSo esdyesd Jod $H3385reasin SOA GO ?

(1) 2248 2) 11288
(3) 40 de 4) 44880
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121.

122.

123.

124,

125,

The Enthalpy ‘H’ can be given as

2070y *H' B2 5795908 2

(1) H=E-

(3) H= v (2) H=E+PV
=k (4 H=E-TS

In whicl i
ich of the following the bond length between carbon and carbon atom is equal ?
(1) 2 - Butene (2) 1- Butene |

3) Be
(3) nzene (4) Propyne

5 (808 ;& S0 8k SE00 D5 20 ErESH B3I BiSrsSsonT
GOLNO0H ?

(1 2- an,seBS 2y 1= m'sej.s
(3) BodS @) @S

The O - H bond energy in water when com :
: ared - ey
e p to O — D bond energy in Heavy water

(1) No change (2) Greater
(3) Doubles (4) Lesser

PGS AIED 0 - H 2065 #49, 56 2050é™ 0 - D w0 348 39,3
(1) SortDy OGS (2) YT &oenod

(3) TeJoIr &otwod (4) S Gowod

The product obtained at anode when 50% H,SO, aqueous solution is Electl:olysed‘

50% Senys0§ epsn W) o (@S IS IINeH 003 @ FE 3¢
' T -

JBESB AD ?

(1) H,S0, (2) H,S8,0,
3) o, 4) H,

Which compound is used in submarines for the purification of air ?

oSBT od’ md DGO BID GIBTAILD ?

(1) KO, (2) Na,O,
(3) Nﬂzo (4) KEO
[25] Turnover




126.

127.

128.

129.

130.
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When diborane undergoes methylation the number of hydrogen atoms replaced 1S
BETES0 PTHS S 10835 35BS &' A TGS SESrEDYD NS

100 eHzon ?

(1) 6 2) 2

3) 4 4 3

Graphite and gas carbon are a pair of

(1) Isosters (2) Allotropes
(3) Isomers (49) Compounds

(™25 05 10 S® &8 B0l

(1) 3353553;53 (2) YrIrodoren

(3) b (4) DAyFTeeD

Ozone layer is present in the region

(1) Troposphere (2) Stratosphere

(3) Mesosphere (4) Exosphere

5,555 65 H (Drossnd” &otnod ?

(1) (€5°0ya0b ) Lﬁ;eﬁ"n&‘)diﬁ

(3) 33)3‘3«330'1)5 ‘ (4) Q?Dba)o:ﬁaﬁ

The final product in the chlorination of methane is

ES 5 FOIRS © 00T, IS0 T S50 28 ?

(1) CCi (2) CHC/,

(3) CH,CL (4) CH,C!

C,H,C! _Alc.KOH, X HBr _, Y. What type of reaction takes place in the
formation of ‘X’ ? |

(1) Hydrohalogenation (2) Dehydrohalogenation
(3) Halogenation (4) Dechalogenation

C,H:Cl _AlcKOH, X _ HBr Y & 3656 ‘X’ D5ytioes 55D 585 ?
(1) TESFEEIIS 2) A &S EIaS
(3) SEEISS @) ASE’RISS

[26]

131. In ‘hep’ arrangement, the co-ordination number js
‘hep’ e9:08S8 SA T 0% Joes ?
(1) 6
D s 2 12
4) 10
132.

133.

134.

Missing ' '
g t’?f one cation and one anion from the crystal lattice is called
(1) lonic crystal

(2) Crystal defi
(3) Schottky defect e ceed

(4) Frenkel defect
2.8 65 B W0 08 SLAIRS 2.8 e3AErS SHoBHE Dot ?

(1) eairds K)_)é.ﬁa’m

(3) S 53w

(2) 88 55w
(4) (@038 55w

What is the molarity of 4% NaOH solution ?
4% NaOH (&3¢90 B%), 30043 Jod ?

(1) O.1m (2) 02m

(3) Im 4 2m

The solubility of gas in liquid increases with

(1) Increase in temperature
(2) Decrease in temperature
(3) Decrease of gas pressure

(4) Increase the quantity

2.5 TPAsn:Y) (B55506° S0 BASON ©RHESH ©HSHod ?

(1) &S DHILE 503

(2)  SPHS SiHes S0

(3)  HeEsSD Sifes SO

(@) Soeg 305D DHIOE S0

27
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: ‘ AN i hilic colloid ? :
135. Which of the following is a lyophil 139. The conjugate acid DfCOi" "

(1) Milk (2) Gum .
(3) Snow (4) Blood | CO; Cﬁngbﬁodim{& &350 HA 2
%O Serond 27 " 1) H,0
5: (308 T8° BTy > | ' ( ; N .
(2) o¥ » (3) OH- i}
A . (4) HCO;
(3) o (4) OB§S®
140. The pH value of 0.0001 M HC/is
136. Which one of the following reversible reaction cannot be affected by pressure ? 0.0001 M &S Ko HC! 03:051, pPH Jdend Joes ?
Bt 1800 B SE08° HHBR S HES BHETII SOED. : (2 @) 3
3) 4
(1) H,+lLe==22HI (2) N,+3H,e==2NH, 3) @ |
(3) pC’S = PC’:.} + C’! (4) 2NO+ 02 = 2N02

141. Which chemical is used for cooling in refrigeration ?

" 137.  The rate of reaction 3D55r506° 3060 S50 D Sans STEFSD TS ?

(1) Decreases with time () co, _ () NH,OH
(2) Decreases with decrease in the concentration of reactants 3 NH.C |
(3) Decreases with increase in time and decrease in the concentration of reactants ) e (4) Liquid NH, /|63 NH 3
(4) None
2.5 505 3e» 142.  Ozone can be obtained by oxygen
' (1) By oxidation at high temperature
(1) So3nE e SR | (2) By oxidation using a catalyst
(2) Eoresste ﬁ‘d,‘pé SNBSS Frew SHD. (3) By using high pressure
& en S1 (4) By silent electric discharge
3)  STO50 DDIHEO HOSM |$oiresste mEdS MG & :
- s Dod LE'S a0 SO0 :
@) dbscp.
() oY & 3¢ edSessin 3o
138. The number of coulombs required for the deposition of 107.870 gram of silver is : (2) esd 503 & élé’)ﬁgm ASRAPAODE 509
- 500 e Iy ErerodSo DS SIES ?
1 107.870 FrS0® 200 AEIS0 & ) S (3) ey bussn A3ArA0HE S
(1) 96500 (2) 48250
(3) 193000 (4) 10000 | - (4) Iy g GIgEEw S0
| 128] .
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143. Which of the following statement is correct ? »
(1) Al halogens except fluorine form oxyacids.
(2) Only chlorine and bromine form oxyacids.

For natural polymers ppj is generally
avcp‘drazé_mn' e FOE0 PDI Denss

(3) Al halogen form oxyacids. - :;; ?00 (2) 1
(4) Only lodine form oxyacids. (4) 1000
& 800 TS DB DO ? 147.  Which of the following is an antacid 2

(1) 0S5 83y 03 F&uSe ey esron JGHEHD. & (300 06 ey 96% 98 7

| Mg
2) 505 50d5m (B SED esdy esispoRd DEGOH. (1) Mg(OH),

(2) Al(OH),

3) o) FEuSom ey siposH JGEHD. (3) MgCo, (4)  All the above/d5%,
@) ORrdS SrED Q’g,) RO 55,)5153@- 148. What is ‘X" in the following reaction ?
C,HCl+ X —— C,H; OH + KC!/
144. The solubility of noble gases in water increases with an increase in ' (1) KHCO, (2) Alcoholic KOH
(1) lonisation potential of noble gases (3) Aqueous KOH @) K,CO,
(2) Thermal conductivity of noble gases ' 5t 208 5D Ee50E® X 5o 1580550,

(3) Atomic volume of noble gases

C,H;Cl+X —— C,H,OH +KC
(4) Electron affinity of noble gases oM »Hs /

DS’ et AN [@HAAHS DO DOAS DHIHH0B ? (1) KHCO, (2) ©o*dE KOH
| (3) (&5 KOH
(1) BETANHO IS ¥§ L (4) K,CO,
(2) eEIANYO GF T L0 149.  Which is formed when ethanol reacts with acetic acid ?
() SETAEDHO S5 HITOITED AETS D236 NG’ 365 BODSHED Ayth GSySw OB ?
| ) (1) CH,C00 C,H, (@) CHOCH,
P TR — (3) CH,;0CH; (4) CH,CH,CHO
145. In complex compounds, the primary valency of the metal is always : 150. Acetaldehyde and acetone cannot be distinguished by
(1) lonic (2) Covalent (1) Tollen’s test (2) Benedict’s test
(3) Zero (4)  None/DI) (3) lodoform test (4)  Schiff’s test
= Dtz 30850 S5 S 208 IS 8D oror 1080B.
5083 SAMTT o’ 850 (S5 So@DreEs JQSptd it
G “ X (1) &85y 50y - | 2) BIGE S0g
1) edirds (2) [VHAFrBIAD .
o 3) woED>D 308 (4) Dy S8%
(3) D 4) W sw )
0
4 [30] q 31)
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